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Rm1=4.890mm Rm2=4.920mm Rm3=4.900mm

Rm4=4.870mm Rm5=4.930mm Rm6=4.960mm
Rm7=4.990mm Rm8=4.980mm Rm9=4.970mm
Rm10=4.940mm
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v, = 4.890 — 4.935 = —0.045

v, = 4.920 — 4.935 = —0.015
v, = 4.900 — 4.935 = —0.035
v, = 4.870 — 4.935 = —0.065

vs = 4.930 — 4.935 = —0.005

ve = 4.960 — 4.935 = +0.025
v, = 4.990 — 4.935 = +0.055
vg = 4.980 — 4.935 = +0.045
vo = 4.970 — 4.935 = +0.035
vy = 4.940 — 4.935 = +0.005
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Gk ’0.002025 + 0.002025 +0.000225 + 0.001225 + 0.004225 + 0.000025 + 0.000025 + 0.000625 + 0.003025 _
= _\! = =
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€y = 2.5 X 0 = 2.5 x 0040345728 = 0.100864320
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,  |0.045] + |=0.015] +|~0.035] + |~0.065] + |~0.005]0.025] + [0.055] +]0.045] +0.035] + [0.005] _
= % _

0.033
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Esq = 0.6745 X 0 = 0.6745 x 0.040345728 = 0.027213194
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Eqy = 1.6449 x 0 = 1.6449 x 0.040345728 = 0.066364688
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s? = ——FN (x; — ¥)?=; x 0.01465 = 0.00162778
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